H & 0l & AHS B Ml A

0238 E 20ilat LBeIH KHS
M NES
M SY2ILA(XAS)
el SHIEILAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
INESS 934,757 907,828 26,929
SHY2LYRRA(XES) 372,627 368,649 3,978
SHI2ILAA 372,627 368,649 3,978
Y= = A& 319,879 319,879 0
201 fer= 3| 104,419 104,419 0
01 At 2|l 36,460 36,460 0
0 &Bt~Sd| 28,060
O = 29 s+
11,000,000 * 14| 11,000
O s BX 7S84, F, 22)
15,0002 x105+12& 1,800
O 3Nz 70 100,000 x35+32] 900
O dAtEHI=S 60,0003 *55+33] 900
O HHANRBE(SAIRX, BI|7, 28 =
) 50,0002 x5+ 123 3,000
O =A #¢ 30,0003 7 5+43] 840
O Ed F(med, BAIl)
200,000 +5CH*43] 4,000
O #HHEFHI(ZBRE, ZgIH, SAD| 8) &
72 =&l 100,000 »7 CH*32] 2,100
O sZI AANEUT =52
520,000 x12H*13] 520
O SOIAHIAAHBLIBY 222
250,000 * 122 3,000
O Xz 8,400
O =8J| gx= 500,000& 122 6,000
O d28=+J| Sxta
50,0003 x4CHx 122 2,400
02 s3=gHl 37,959 37,959 0
0O 3322 £ HMA 37,959
O Rz 2,530 %2571+ 12& 7,803
O QHWSHASE(XAFEEY2HE)
121,000& x 122 1,452
O SYMASIIZANEX S8R
20,0002 +6LH* 122 1,440
O &= 2,000,000& ~12& 24,000
O dote=kz 250,000 122 3,000
O Rugs= 11,0003 =204~ 123 264
03 A2 Y| 30,000 30,000 0
[ 0 BAsaDA 2AR
30,000,000 *14! 30,000
202 04| 39,300 39,300
01 SLHoIH 5,700 5,700
O =LHOHI 5,700




M XES
M SY2ILA(XAS)
el SEI2ILXE (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K oﬁg% HusZ
O uags & 22 o
80,0003 x5 x123] 4,800
O t=0geEs 20,0002 x15E*32 900
02 XN 33,600 33,600 0
O A0l 200,000 x14H« 122 33,600
301 LELEN S 172,660 172,660
o7 8801 - 32243 157,660 157,660
0 SZgs:eEd=s 149,760
O =g 300,000 x32H 123 115,200
O d0= 300, 0002 x32E 22 19,200
O o< 20,0003 x32 »22| 12 15,360
O ctasseds 25,0002 x 158 23] 7,900
1 BARHIXES 15,000 15,000 0
0 Sts =YX U2
10,0002 *1502 %102 15,000
405 Atats = 3,500 3,500
01 Tt =S F=HI 3,500 3,500
O MR &1 & HIE 7
3,500, 0002 14! 3,500
AL & AIE HH RAE=> 52,748 48,770 3,978
101 QI24H| 14,699 13,322 1,377
M IRHMZZ2HS e 14,699 13,322 1,377
O A 22| o2 6,600
O JIEgs 550,000 «1H*12& 6,600
O At =8 SFEH| 92 6,600
O Jl=z= 550,000& 1~ 128 6,600
0401 28 1,499
O HLEE= 223
13,200,000 *3.60/100 476
O LEIQLLEz FE2
476,000& *12.27/100 59
O FUAZEEE PES
13,200,000& *4.50/100 594
O NEEEzs R2=3
13,200,000 *1.80/100 23
Ot HEEE B2
13,200,000&%1/100 132
201 LEeH2 | 27,578 27,578
2 35244l 27,578 27,578
02322 2 HMA 500
O KNSXHAl 80,000 *2CH 160
O XSt ZAE 50,0002 <2CH 100
O SFNERE= 60,0002 x2E 23] 240
O ¢=H 6,000




M NES
M SHNSAUNA(NHE)
el SHIEILAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AMRA(EAMZAIDIAZ)
7,5002+BAI2H+ 100 6,000
O A2 &BlI=AXsl 14,078
O At 2,7503 *1,490m 4,098
O g&EX 100,000 *42] 400
O WF2I 30,0002 *3LH*22] 180
O sIIoEBRNEY 242
300,000 «1CH*12& 3,600
O AZAE ZSHUNA L BHSI|SHY
a2 500,00024+23] 1,000
O FIIHHUY 442
150,000& « 12 1,800
O AAESLI)| ST
3,000,000 %14 3,000
O Xbef - Adetl 7,000
O 22X (RS0, FHISAHl, 223
) 7,000
St= Xt 3,000,000 *1CH 3,000
SEXHEX) 4,000,000 *1CH 4,000
206 M=l 10,471 7,870 2,601
01 M= HI 10,471 7,870 2,601
O 298 SFU 8,471
O fgs 1,9272+1,200 4 2,313
O 3= 1,811&%3,400 £ 6,158
O JIEH X & 50,0002 x105+43] 2,000
FRIHOIA (KIXHS) 411,411 389,723 21,688
FOIE ALY 411,411 389,723 21,688
HEH SAEH] Y FUEHAAS 109,251 87,563 21,688
101 @124H| 39,251 37,563 1,688
M ORINZZENSES 39,251 37,563 1,688
O SYEYIMYDIEH & ==s2t3dH| o
28 76,9603 x38 40! 9,236
0 g9 A5 2R
76,9602 x2H*1202 18,471
0 o9&H M=&g & 238 22
76,9603 38 x50 11,544
401 Al HIZ 2018 70,000 50,000 20,000
01 Al&H| 70,000 50,000 20,000
O oA sZEhl 5,000,000& 42| 20,000
O F2Egag 21857 2 3
5,000,000 =10 50,000
SYIIEAIE &F - FHl 151,080 151,080 0
401 Al HIZL S 0HYI 151,080 151,080
01 Al&HI 150,000 150,000




M NES
HE: ZOIHOAY (KIHE)
&2l FOEAANY (SH &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O Axs 0 s2 JUISA
20,000,000& » 14 20,000
O XS =5 s2 JUISA
20,000,000& * 14! 20,000
O XEs titiel =2 ZHISA
20,000,000 *14] 20,000
O Xxs MOte s= JHISA
20,000,000& x 14 20,000
O Axs 24 s2 JUISA
20,000,000 *14! 20,000
O Xxs 0tas =2 St
20,000,000 *14] 20,000
O XS =255 s= st
20,000,000& » 14 20,000
O XS EXE =2 JBISA
10,000,000& * 14! 10,000
03 Al 20HHI 1,080 1,080 0
O AIE 20 150,000,000& +0.72/100 1,080
a2 FU=IAAMY 151,080 161,080 0
401 AlZHIZL SO 151,080 151,080
01 Al€HI 150,000 150,000
O XZS O == EBISAH
20,000,000& x 14 20,000
O Xxts S5 =2 FHISA
20,000,000 *14! 20,000
O XI&S iCtel Hi=2 ZHISAt
20,000,000 %14 20,000
O X&S MOtS =2 HISAH
20,000,000 x 14 20,000
O Xzts R4 =2 ZHISA
20,000,000 *14! 20,000
O X&sS 0t Y2 JBISA
20,000,000 * 14 20,000
O XS =25 dYZ JBISA
20,000,000 x 14 20,000
O X&s P Y2 JHISA
10,000,000 * 14! 10,000
03 Al 20HHI 1,080 1,080 0
O AHsS 22 F2U=2AAE AILF0UH
150,000,000& *0.72/100 1,080
A 2ALHI(XI£S) 150,719 149,456 1,263
el 2E | 110,889 109,116 1,773
QIR HH|(XIES) 110,889 109,116 1,773
101 ©1AH| 110,889 109,116 1,773
01 2= 110,889 109,116 1,773
O =u=22fsE 110,889




SN NEHE
B HESAAY|(NHE)
chel: oli2aly| CCE-E)
SA BB GR(B) - HSAY - BES Ofl Oﬁlg% HRS2
SEEEEEES
12,3213 %15 +50A[ 2t 122 110,889
BRI 3,890 40,340 A510
SIEETIGNEE) 29,830 40,340 A510
201 Zer2 Y| 27,830 27,740 0
01 ArR2eltl 27,830 27,740 0
O g4y 14,430
O =2 30,0002 1% x249 7,470
O 2=y 60,0002 +12+1162 6,960
[ Sl 11,400
O 4h20lg 2 HLAES S
8,000& x15H 95 11,400
O gdxt=s 2,000
O ToHze FHIUR
2,000,002 %14} 2,000
208 22 EZIY| 10,200 10,800 2600
01 J| 22 RF=4| 6,600 6,600 0
O Xx=sE 550,0002 x 123 6,600
02 H AR FAH| 600 600 0
(IRESE VN DIFSES; 40,0003 *15H 600
04 FA2ILRFAL 3,000 3,600 2600
O X3S 250,000 122 3,000
204 MR AY| 1,800 1,800
01 SR 1,800 1,800
O s& 150,000& 122 1,800




